hELZFEFEFAL X 100mR

148
B F—Ls Fon- K&1 Fon- KL2 Fton- KA3 tun- KR4 A0 8%
1 #ME A 1605 EF* BAFI-2 1635 AR 2-1 1648 thHE #-1 1612 iHfk &-2 .55.09
2 FRIF 1746 B k-2 3566 At &1 3552 BA FEM-1 1744 #k m=-2 56.67
3 BF A 1797 i mt&-2 1829 = fh%-1 1823 28 max1 1791 Ik EBE-2 56.71
4 FE B 1606 M#aEE2 1637 B HEm-1 1646 B £Z=1 1602 |E 852 5713
5 InEF 1435 ¥ RE-2 3326 HE #Hk-1 3325 88 MEE-1 1432 FH kKE2 59.13
6 v 1866 =41 -2 1880 #IE HEF-1 1882 B4t mE-1 1871 & #o#2 DNS
248
B F—Ls Fon- K&1 Fon- K£2 Fon- KL3 tun- K4 %
1 BlfE 1945 ## Hh-2 3769 KB #&=-1 3771 N #%-1 1938 kA EH-2 57.66
2 BHE A 1544 &Kk &F-2 3242 %% fM%E-1 3239 %A =1 1552 &L kk-2 .58.80
3 BF B 1798 #JIl #%-2 1839 wig 2x-1 1820 $HA |R-1 1790 it HEE-2 59.56
4 fF  C 1611 LEEeE2 1650 & £¥-1 1649 AB -1 1607 @i Hil-2 .59.66
5 THE 1513 #3E Mik-2 1503 £# ®4F1 1501 &0 AE-1 1512 =& ##E-2  1.00.03
6 HE B 1543 @A #WF2 3244 2K BE1 3245 R =£1 1549 ¥ HE2  1.01.05
7 BHF C 1796 =4 R¥-2 1838 &0 31 2980 IO B|k-1 1795 % miz-2  1.02.64
'\:{L‘lt:ﬁ
NEGL  F—Ls Fon- K&1 Fon- K&2 Fton- K&3 ton- KL4 0%
1 P 1605 =+ BAFi-2 1635 AR f&-1 1648 thEA -1 1612 :nfk -2 55.09
2 FRIF 1746 B t58-2 3566 F1t @1 3552 =K EM-1 1744 FE m=-2 56.67
3 BHF A 1797 i mt&-2 1829 = fh%-1 1823 28 max1 1791 Iy EBE-2 56.71
4 fFE B 1606 M#sEE2 1637 B HEm-1 1646 B £Z=1 1602 |E 852 5713
5 Blf 1945 #8& Hova-2 3769 KB #&ZE-1 3771 MR #MK-1 1938 A HEH-2 57.66
6 BHE A 1544 &Kk E&F-2 3242 %% fM%E1 3239 %A =1 1552 &L kk-2 .58.80
7 #WE 1435 3@ FE-2 3326 H& #k-1 3325 48 BEE-1 1432 @H# KE2 59.13
8 BHF B 1798 #Il #£%-2 1839 wig s2=1 1820 85K {KR-1 1790 Jith HEE-2 59.56



h&4F4 x 100mR

148
B F—Ls Fon- K&1 Fon- KL2 Fton- KA3 tun- K{4 A0 %
1 M 1645 —& ZBt-1 1594 Ay ZE-3 1583 MM FfE-3 1581 M RiE-3 50.11
2  IRE 1422 FiE ©5-3 1424 1% £%-3 1430 %M #FP-2 1436 XA 322 53.33
3 FHRIF 1734 @ %83 1737 8E FH#H-3 1745 £HEEF2 1738 MaFfYh-3 54.18
4 =)= 1533 migE Bz=-3 1531 miE #/5I-3 1537 % #5353 1540 A5 F&3 55.14
5 BF 1786 E4% -3 1792 2@ BAZ-2 1782 Ml HEF-3 1788 BIa H%-3 55.38
6 P 1598 ##& M3E-3 1596 k7 £A-3 1595 kF HEZ-3 1592 #iK £k-3 55.46
7 PN 1686 Ef Em-3 1682 AH %#%-3 1688 =i ®4%-3 1695 %& HB-1 55.54
248
B F—Ls Fon- K&1 Fon- K£2 Fton- KL3 tun- K4 %
1 & 1936 %8 &£Z-2 1928 taw-¥ #73 1931 |FH £H-3 1926 #zLmBHs 55.81
2 BiyAE 1869 Az@E =52 1870 8% BE-2 1875 HHiKk EF-2 1873 #E BFE-2 57.55
3 KK 1692 #)Il Hfg-2 1689 M #HE-2 1693 #f B2 1691 B B2 59.67
4 =)= 1536 &0 B%-3 1547 miE »Z-2 1550 #L+ BE2 1532 mE B%-3 59.83
5 ] 3 159 #il wmE-1 157 {FE FLv-1 158 Wk ®E®Em-1 156 A B2 1.02.13
6 PN 1699 =l &1 1697 BB Y=-1 1698 Fil k3%&-1 1694 {F#& #£-1 DSQ
'\:{L‘lt:ﬁ
B F—L Ton- K&1 Fton- KE2 Ftun- KH3 tun- K{4 0%
1 P 1645 —& %81 1594 ff ©E-3 1583 MM FiE-3 1581 fEE RE-3 50.11
2  IRE 1422 i 253 1424 165 23 1430 £@ #p-2 1436 XA -2 53.33
3 FHRIF 1734 @ %83 1737 8E T3 1745 £HEEF2 1738 MaFYH-3 5418
4 =)= 1533 migE Bz=-3 1531 miE #/5I-3 1537 % #5353 1540 A5 F&3 55.14
5 HF 1786 E#4 &3 1792 2@ BAZ-2 1782 M EF-3 1788 BIA $%-3 55.38
6 P 1598 #%#% ME-3 1596 kF £4-3 1595 kF E%-3 1592 #HK £K-3 55.46
7 PN 1686 Bt Em-3 1682 AM %£%-3 1688 =& %4%3 1695 %S HH-1 55.54
8 Blff 1936 %8B %2 1928 aw-¥ s73 1931 H £H-3 1926 #zrmBis 55.81



